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EH-TW6600W EH-TW6600
X i & ELELPMB22{ FA B§ X i & R ELPMB224s5 FA Bs
HEEE (kg) KXABAHEE (kg) HEEE (kg) XAHEHESE (ko)
S 6.8 NS 6.7
XM Y&E (a) |[ELPMB22| 3.5 A fk+a=10. 3 XA Y&B(a) |ELPMB22| 3.5 A fk+a=10. 2
784 7450 (b) |ELPFP13] 2.1 Afk+a+tb=12.4 734 7450 (b) | ELPFP13] 2.1 Af{k+a+th=12. 3
/84 F700(c) |ELPFP14] 2.6 Afh+atc=12.9 784 F700(c) |ELPFP14] 2.6 Afh+atc=12.8
EH-TW6600W EH-TW6600
X f s ELELPMB30 £ F A% X i s ELELPMB30 4 F B
HiAE=E (kg) XRBSHER (kg) HBiAERE (kg) XARBSHER (kg)
K 6.8 K 6.7
XA Y<£E (a) JELPMB30] 3.5 Ak+a=10. 3 XM Y £8(a) |ELPMB30] 3.5 Afk+a=10.2
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